Bereken ArH® voor de volgende reacties uitgaande van de AfH’-waarden.
a) 2 H2S(g) +3 02(g) = 2S02(g) +2 H20(g)
b) CHa(g)+ 4 Cl2(g) — CCla(vl) + 4 HCl(g)
c) SiO2(v) +4 HF(g) — SiFa(g) + 2 H20(g)
d) CaHe(g) +7/2 O2(g) — 2 CO2(g)+ 3 H20(g)

A (ktfmol) AH® (kifmol)

Has(g) -20,2 CClafvl) -1339

S0a(g) -296,8 HCl(g) -92,3
H20(g) —241,8 Si02(v) -910,9
CHalg) -74,3 HF(g) -273

SiFa(g)) ~1614,9 CoHs(g) -84,7
Coz(g) -393,5

Oplossing

a

2 H2S(g) +3 02(g) — 2 S02(g) + 2 H20(g)
Pas de wet van Hess toe.

0_+5. 0 ] 0 5. 0
ArH =2 AfHSOZ(g) +2 AfHHZO(g) 2 AfHHZS(g)
=2. —296,8£ +2- —241,8£ -2 —20,2£
mol mol mol
_ 10379
mol

b
CHa(g)+ 4 Cl2(g) — CCla(vl) + 4 HCl(g)
Pas de wet van Hess toe.

o _ 0 ) ) 3 0
AHT = AtHea, iy * 4 AfFhag) ~ AFCH, (o)

= —139£ +4. —92,3£ - —74,9£
mol mol mol

- 4338
mol
C
SiO2(v) + 4 HF(g) — SiFa(g) + 2 H20(g)

Pas de wet van Hess toe.

o_ 0 CALHO _ 0 A0
AH™ = (AfHSiF4(g) +2 AfHHZO(g)j (AfHSiOZ(V) +4 AfHHF(g))

[rosspa)2 (o onsgs)-+ ]

= —95,6£
mol



d

C2He(g) +7/2 O2(g) — 2 CO2(g)+ 3 H20(g)
Pas de wet van Hess toe.

0_(5. o ) 0 _ o)
AcH _(2 AFHGo, (g +3 AfHHZO(g)) AFHE e (a)

~2.(-393,529 11 3.( 241,89 )_(_g4,7 L
mol mol mol

= —1427,7£
mol



